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Max— Min Construct a sinusoid with the given amplitude and period that goes through the given
2 point.

Max+Min 4
2

Amp=A=

Vertical = (C) = Amp: &, pariod ‘&, poeint (0,0)

period = p
Horizontal Stretch/Shrink

52

P

How to choose an

appropriate model based on
the behavior at some given
time, T.

y=AcosB(t-T)+C
if at time T the function

attains a maximum value B} AITIP. 25‘ period %‘ pOiI'Il (21 0)

y=-AcosB(t-T)+C
if at time T the function
attains a minimum value

y=AsinB(it-T)+C

if at time T the function
halfway between a
minimum and a maximum
value

y=-AsinB(t-T)+C

if at time T the function
halfway between a
maximum and a minimum
value
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36
?fw Determine the sinusoidal model from the graph(No phase shift)
Eb:mp'.: ﬂ'la.x- m;n} y " {
o 41 W -
- 3 4 = 3.6 '5( X>
= R = C_ 3) - 2_\ /. 3 o

(il = MaxtMin ) :

§
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?

Shift 2 ’_"‘:“;—- 0
= 4 (R) met
er’od
- ¥
:0 I
: [ f{ i Qom.&ﬂ"t'
(AL \ i -3 p
=¥ = QT = 2 Sin kX
\'M' -
TV
SHERAEESS
P\MP—E__J:Q
o |
¥s = S+l1.3
-
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Determine the sinusoidal model from the graph(phase shift)

Amp-..l‘l
/ peciod= b b2l 5
L 3

lﬁ:"l $\n ’}5()( +€}
y= Heos 3 (x-rﬂ

peviod > B
: b-:'_b"t‘_ l
53 Iz im d=x Sk fm Tr Sn m l0xlind - str
T |
B - e P\m(?'—'- il =
e
: f1%'r\:\- 13“ —| sin L"!{(X-TI_) —D
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The graph of y = tan x

. ‘
{ (
{ f
4 ‘ $ R
—2% % : 3 :
{ (
‘ (
f (
?au% The graph of y = cot x, .
‘ ( :
?&(1 ad =TT / f ;
(
ﬁSnmp‘]’D"\ﬂs aic ( ( f
At +he period ¢ t
and +he Nmaxis i " r
(before anqslibtd) :
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(

Describe the transformations required tg obtain the graph of the given function form

a basic trigonometric graph. Y:' Scok T (X" %5

T
FIMP = 2\ —A) y = 2col3x) B) }»‘=5(:0t[fﬂf—§]

ek = ok 'r !
Pg 3 : | I
‘% — l;
<1

3w \| T\

. b C
AR T
: l {
] ll

peciod= 0T _ 2T
(3)

Cighd 4

oy H
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